= A
H = 0 &F AF & & A A
20198 = 20 A 2EHDE2HLASESH &M
ME=pFSkLans
=sws X
HE=EWSAHA HZ2(2YHOIE2GL2ALIEESH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
0t 119,168 192,468 A 73,300
= 769
= 118,399
wsE 119,168 192,468 A 73,300
= 769
= 118,399
HE=EWSAHA HZ2(2YHOIE2GL2AEESH) 119,168 192,468 A 73,300
= 769
= 118,399
2dHOE 29 64,693 188,907 N 124,214
= 769
= 63,924
201 et 9| 49,555 30, 152 19,403
01 At 221 11,476 9,876 1,600
o 2l Y NPEBE P S
500,000 = 123l 6,000
o ROoIAHIAIAYE 2H2 125,000 * 12& 1,500
o ANsSEE) 24Ul & AL
143,000 * 128 1,716
o AYAAE HS)s EH 660,000 * 13| 660
o BEHAHOYE 22 YFRFEA ZEH|
8,000& * 2% * 100¥ 1,600
02 B232%H| 38,079 20,276 17,803
o MIIR3 2,400,000& = 12&€ 28,800
o Motx=ER23 160,000& = 12& 1,920
o N3R2 100,000& * 128 1,200
o AHOolE TV 13,2009 ~ 12€ 159
o A2 =4 500,000& * 123 6,000
202 044l 3,600 0 3,600
01 2L Y| 3,600 0 3,600
o HOIE AME=2 A& & &8
20,000 * 2 » 90 3,600
401 AlEHI 22 OhYl 10,000 72,585 £ 62,585
01 Al& H| 10,000 72,585 N 62,585
o HOIE AMEHE & RA2%
10,000,000 = {14! 10,000
405 KHoHFE S HI 1,538 0 1,538
= 769
= 769
01 AL E B F S| 1,538 0 1,538
o 2019 I HOtAIE DY ALY
769,000 = 20H 1,538
= 769
= 769
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HEuWsSAHHA MS(SSEHDE2IH2

% S 4 14
SN BB (BH) - MR e bl D=2t
[ {M=1Rs]! 54,475 3,561 50,914
801 Gildl bl 54,475 3,561 50,914
01 LBHoil bl bl 54,475 3,561 50,914
< 0ldldl 54,475,000 54,475
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